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"~ GPS#14 4.1/4.2 SYSTEMS OF LINEAR EQUATIONS IN TWO VARIABLES I NAME: 5 u‘;j ade
Useful Guidelines: 6‘
* Solving a System by Elimination *
Step 1: Write both equations in standard form Ax+By=C. /L, A .
Step 2: Make the coefficients of one pair of variable terms opposites. 1
Step 3: Add the new equations to eliminate a variable, Then solve for the remaini g variable.

# When two lines intersect in a single point, the coordinates of this point give the only solution

of the system. Then the system is consistent, and the equations are independent.
# When the lines are parallel to each other, the System is inconsistent and the solution set is an

empty set.
# When the lines are overlapped on each other., The equations are dependent. The solution set
is an infinite Set of ordered pairs representing the points on the line.

1. Solve each system by eliminati Is the system consistent, inconsistent or has dependent

equations? AL, 1
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2. Solve each systelf!n T)yLé)lﬁ nation. Is the , inConsistent or has dependent
equations? .
) (x+3y=4)2 = Zx +6Y :?jCD b)<2A—B=y»3 = ~CA+3 8 :—?j@
—2x-6y=3 2 -2x -6Y4 = 64-3B=9 = & -38:9 Ja
R o f;[**“/u@’f e O~ istvue
po. SelvHon, 2 1M ace overleyppicg

hqw, T f«‘im?‘d\zj ’P“ﬂwj Sol .,
SYSie 5 comersborace

( SUSHern Y8 MntemmelsTornee_

Ugt ouse Mo Solt j,j

/ }.
‘ : Eonudons o deptad "o
[ : @r) ; )
sel. sed 2 ] j&qmpgse;« Sol.SerS®,R)) £r-3a 29
- :i Corry e gol-forss.)

. 3. Suppose a certain brand of laptop has supply and demand functions given by
>~ Pt Sfﬁﬁp =25¢ +50and p = 2800 — 30q , respectively.
.

R -® a) If the price p is $350, how many units q are supplied and how many are demanded. [®@ - <5 s,
b) What price gives market equilibrium, and how many units are demanded and supplieda f:$1300
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